TTD Guidance Examples

* Montana Department of

* LABOR & INDUSTRY

Example 1: Injured worker rate of pay is $10/hr and works Monday and Wednesday

at 8 hours each day. Injury date is Monday, the 1st.
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Current Calculation:

TTD Weekly Rate =Pre-Injury Weekly Wage x 2/3 (sub to caps)
=$10/hr x 8hr/day x 2 day/weekx 2/3

= $106.67/Week

TTD Daily Rate = TTD Weekly Rate / 7 days
= $106.67/Weekly / 7 days
=$15.24/day

Retroactive Reimbursement =Daily Rate x Retroactive Payment
Period

= $15.24/day x 14 days

=$213.36

21 Days of
Disability

Department Guidance:

Wages Lost = Rate x hours (subject to max 32 hours or 4
days, whichever is less)

= $10/hr x 8hr/day x 4 days

=$320

Retroactive Reimbursement = Wages Lost x 2/3 (sub to
caps)

=$320x2/3

=$213.33
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| Example 2: Injured worker rate of pay is $10/hr and works Monday,Wednesday, and
Friday at 8 hours each day. Injury date is Monday, the 1st.
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Current Calculation: Department Guidance:
TTD Weekly Rate =Pre-Injury Weekly Wage x 2/3 (subjectto
caps) Wages Lost = Rate x hours (subjectto max 32 hours or 4
=$10/hr x 8hr/day x 3 day/weekx 2/3 days, whichever is less)
= $160/Week = $10/hr x 8hr/day x 4 days
TTD Daily Rate = TTD Weekly Rate / 7 days =$320
= $160/Weekly / 7 days ) .
= $22.86/day Retroactive Reimbursement = Wages Lostx 2/3 (sub to
caps)
Retroactive Reimbursement = Daily Rate x Retroactive Payment =$320x2/3
Period =$213.33
=$22.86/day x 9 days
=$205.74

] Example 3: Injured worker rate of pay is $10/hr and works Monday, Wednesday,
Thursday and Friday at 8 hours each day. Injury date is Monday, the 1st.
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Current Calculation: Department Guidance:
TTD Weekly Rate =Pre-Injury Weekly Wage x 2/3 (subjectto
caps) Wages Lost = Rate x hours (subjectto max 32 hours or 4
=$10/hr x 8hr/day x 4 day/weekx 2/3 days, whichever is less)
= $213.33/Week = $10/hr x 8hr/day x 4 days
TTD Daily Rate = TTD Weekly Rate / 7 days =$320
=$213.33/Weekly/ 7 days . n
= $30.48/day Retroactive Reimbursement = Wages Lost x 2/3 (sub to

caps)

Retroactive Reimbursement = Daily Rate x Retroactive Payment =$320x2/3
Period =5213.33
=$30.48/day x 7 days
=5213.36

3/11/2014



] Example 4: Injured worker rate of pay is $10/hr and works 5 days a week at 8 hours
eachday. Injury date is Monday, the 1st.
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Current Calculation: Department Guidance:
TTD Weekly Rate =Pre-Injury Weekly Wage x 2/3 (subjectto
caps) Wages Lost = Rate x hours (subjectto max 32 hours or 4
= $10/hr x 8hr/day x 5 day/weekx 2/3 days, whichever is less)
= $266.67/Week = $10/hr x 8hr/day x 4 days

TTD Daily Rate = TTD Weekly Rate / 7 days =$320

= $266.67/Weekly/ 7 days . .
Retroactive Reimbursement = Wages Lostx 2/3 (sub to

= $38.10/day

caps)
Retroactive Reimbursement = Daily Rate x Retroactive Payment =$320x2/3
Period =$213.33
=$38.10/day x 4 days
=$152.40
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